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Question Number : 1 Question Id : 87827052114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the main function of myosin?

1. ATPase activity
2. Storage of nutrients
3. Synthesis of protein
- ADPase activity

F =N

Options :

878270205041. 1
878270205042. 2
878270205043. 3

878270205044. 4

Question Number : 1 Question Id : 87827052114 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270205041. 1
878270205042. 2
878270205043. 3

878270205044. 4

Question Number : 2 Question Id : 87827052115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which heart sound is sharp, short and caused by the sudden closure of semilunar valves?

1. First heart sound

2. Second heart sound
3. Third heart sound
4 Fourth heart sound

Options :

878270205045. 1
878270205046. 2
878270205047. 3

878270205048. 4

Question Number : 2 Question Id : 87827052115 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270205045. 1
878270205046. 2
878270205047. 3
878270205048. 4

Question Number : 3 Question Id : 87827052116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which enzyme curdles the milk and converts caseinogens first into paracaseinogen and then into calcium paracaseinate?

1. Plyalin

2. Pepsin

3. Chymosin
4 Amylase

Options :

878270205049. 1
878270205050. 2
878270205051. 3

878270205052. 4



Question Number : 3 Question Id : 87827052116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270205049. 1
878270205050. 2
878270205051. 3

878270205052. 4

Question Number : 4 Question Id : 87827052117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the main source of energy for skeletal muscle ?

- Enzymes
_Fat

. Protein

- Glucose

L

Options :

878270205053. 1
878270205054. 2
878270205055. 3

878270205056. 4



Question Number : 4 Question Id : 87827052117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270205053. 1
878270205054. 2
878270205055. 3

878270205056. 4

Question Number : 5 Question Id : 87827052118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Muscle of forearm is divided into which groups ?

1. Anterior and Posterior muscles
2. Lateral and Parietal muscles
3. Superior and Inferior muscles
4 Superficial and deep muscles

Options :

878270205057. 1
878270205058. 2
878270205059. 3

878270205060. 4



Question Number : 5 Question Id : 87827052118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270205057. 1
878270205058. 2
878270205059. 3

878270205060. 4

Question Number : 6 Question Id : 87827052119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An increase in intraocular tension produced due to excessive collection of agueous humour is called:

1. Colour blindness
2. Accomodation

3. Myopia

4 Glaucoma

Options :

878270205061. 1
878270205062. 2
878270205063. 3

878270205064. 4



Question Number : 6 Question Id : 87827052119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270205061. 1
878270205062. 2
878270205063. 3

878270205064. 4

Question Number : 7 Question Id : 87827052120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pleura, the covering of lungs is membrane

1. serous

2. mucous
3. synovious
4. nuclear

Options :

878270205065. 1
878270205066. 2
878270205067. 3

878270205068. 4



Question Number : 7 Question Id : 87827052120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270205065. 1
878270205066. 2
878270205067. 3

878270205068. 4

Question Number : 8 Question Id : 87827052121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which bone is cubical in shape and situated at the roof of nose and in between the eye orbits ?

1. Parietal bone
2. Ethmoid bone
3. Sphenoid bone
4 Tempral bone

Options :

878270205069. 1
878270205070. 2
878270205071. 3

878270205072. 4



Question Number : 8 Question Id : 87827052121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270205069. 1
878270205070. 2
878270205071. 3

878270205072. 4

Question Number : 9 Question Id : 87827052122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Resolving power of microscope is due to which of the following ?

1. Eye piece

2. Nose piece

3. Objective lens
4 Electric bulb

Options :
878270205073. 1
878270205074. 2

878270205075. 3



878270205076. 4

Question Number : 9 Question Id : 87827052122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270205073. 1
878270205074. 2
878270205075. 3
878270205076. 4

Question Number : 10 Question Id : 87827052123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Which method of Hb estimation, hemoglobin is converted into carboxyhemoglobin?

1. Wu's Method

2. Oxyhemoglobin Method

3. Haldane Gower's Method

4. Cyanmethemoglobin Method

Options :
878270205077. 1

878270205078. 2



878270205079. 3

878270205080. 4

Question Number : 10 Question Id : 87827052123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270205077. 1
878270205078. 2
878270205079. 3

878270205080. 4

Question Number : 11 Question Id : 87827052124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The dilution factor of blood & RBC diluting fluid is in total erythrocyte count in counting chamber.

1.50

2.100
3.150
4.200

Options :

878270205081. 1



878270205082. 2
878270205083. 3

878270205084. 4

Question Number : 11 Question Id : 87827052124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270205081. 1
878270205082. 2
878270205083. 3
878270205084. 4

Question Number : 12 Question Id : 87827052125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which condition, there is an idiopathic primary absolute increase in red cell mass associated with panmyelosis?

1. Thalassemia Minor
2. Thalassemia Major
3. Polycythemia Vera
4 Polycythemia

Options :

878270205085. 1



878270205086. 2
878270205087. 3

878270205088. 4

Question Number : 12 Question Id : 87827052125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270205085. 1
878270205086. 2
878270205087. 3
878270205088. 4

Question Number : 13 Question Id : 87827052126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 40 years old male had undergone splenctomy 20 years ago. Peripheral blood smear examination would show the
presence of

1. Dohle bodies

2. Hypersegmented neutrophils
3. Spherocytes

4. Howell - Jolly bodies



Options :

878270205089. 1
878270205090. 2
878270205091. 3
878270205092. 4

Question Number : 13 Question Id : 87827052126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270205089. 1
878270205090. 2
878270205091. 3
878270205092. 4

Question Number : 14 Question Id : 87827052127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which component is responsible for the survival of cells in the blood ?

1. Trisodium citrate

2. Biosodium Monophosphates
3. Dextrose

4 Adenine

Options :

878270205093. 1
878270205094. 2
878270205095. 3
878270205096. 4

Question Number : 14 Question Id : 87827052127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270205093. 1
878270205094. 2
878270205095. 3

878270205096. 4

Question Number : 15 Question Id : 87827052128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Which time is prolonged in liver disease, congenital deficiency of coagulation factors in the extrinsic pathway and in oral
anticogulant therapy?

1. Bleeding tine

2. Prothrombin time
3. Clot retraction

4. Fibrinolytic activity

Options :

878270205097. 1
878270205098. 2
878270205099. 3

878270205100. 4

Question Number : 15 Question Id : 87827052128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270205097. 1
878270205098. 2
878270205099. 3
878270205100. 4

Question Number : 16 Question Id : 87827052129 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which bleeding disorder is caused due to the deficiency of factor IX?

1. Haemophilia B
2. Purpura

3. Haemophilia A
4 Haemophilia C

Options :

878270205101. 1
878270205102. 2
878270205103. 3

878270205104. 4

Question Number : 16 Question Id : 87827052129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270205101. 1
878270205102. 2
878270205103. 3

878270205104. 4

Question Number : 17 Question Id : 87827052130 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the folowing linkages makes cellulose unsuitable for human digestion?

1. Alpha D- Glucosidic linkage
2. Beta D-Glucosidic linkage
J. Alpha L- Glucosidic linkage
4 Beta L-Glucosidic linkage

Options :

878270205105. 1
878270205106. 2
878270205107.3
878270205108. 4

Question Number : 17 Question Id : 87827052130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270205105. 1
878270205106. 2
878270205107. 3

878270205108. 4



Question Number : 18 Question Id : 87827052131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sanger studied in 1955 the structure of insulin. The reagent he used for this purpose and which is named after him is
known as

1. Chlorobenzene

2. Nifrobenzene

3. Flurobenzene

4 Dinitroflurobenzene

Options:

878270205109. 1
878270205110. 2
878270205111. 3

878270205112. 4

Question Number : 18 Question Id : 87827052131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270205109. 1
878270205110. 2
878270205111. 3



878270205112. 4

Question Number : 19 Question Id : 87827052132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Brucella 1s described correctly by the statement._..___._____itis a fungus

1. It is a fungus

2. Itis a bacterium

3. Itis a vegetative reproduction capsule
4 ltis a part of cilia

Options :

878270205113. 1
878270205114. 2
878270205115. 3
878270205116. 4

Question Number : 19 Question Id : 87827052132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
878270205113. 1

878270205114. 2



878270205115. 3

878270205116. 4

Question Number : 20 Question Id : 87827052133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the cystine content of double stranded DNA is 20% of the total bases, then the adenine content will be

1.40%
2.30%
3. 20%
4 10%

Options:

878270205117. 1
878270205118. 2
878270205119. 3

878270205120. 4

Question Number : 20 Question Id : 87827052133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
878270205117. 1

878270205118. 2



878270205119. 3

878270205120. 4

Question Number : 21 Question Id : 87827052134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The terminal reaction in heme synthesis, where Fe™ from transferrin is infroduced into protoporphyrin IX is catalysed by:

1. Ferrochelatase
2. Femolyase

3. Ferro oxidase
4 Ferro reductase

Options:

878270205121. 1
878270205122. 2
878270205123. 3

878270205124. 4

Question Number : 21 Question Id : 87827052134 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



878270205121. 1
878270205122. 2
878270205123. 3

878270205124. 4

Question Number : 22 Question Id : 87827052135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first symptom of vitamin A deficiency is:

1. Xerosis conjuctivae
2. Xerosis cormnea

3. Nyctalopia

4 Bitot's spots

Options :

878270205125. 1
878270205126. 2
878270205127. 3

878270205128. 4

Question Number : 22 Question Id : 87827052135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



878270205125. 1
878270205126. 2
878270205127. 3

878270205128. 4

Question Number : 23 Question Id : 87827052136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The enzyme that is concerned in the conversion of All-trans retinal to 11-cis retinal belongs to the class of:

1 Transferases

2. |somerases

3. Oxidoreductases
4 Hydrolases

Options :

878270205129. 1
878270205130. 2
878270205131. 3

878270205132. 4

Question Number : 23 Question Id : 87827052136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UsTIgH wil Hio-cie el & 11-fag Xfe-e & uRad- 9 96fid 3, 39 o 4 gl 27
1! Ezq'ﬁzv_

2. AZHETT _

3. \3\‘5\:1:: \QEaE'\f

4 D'Ex;ﬁ.';*\.f

Options :



878270205129. 1
878270205130. 2
878270205131. 3

878270205132. 4

Question Number : 24 Question Id : 87827052137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The site of of oxidative phosphorylation in the cell is:

1. Cytoplasm

2. Mitrochondria

3. Golgi apparatus

4 Endoplasmic reticulum

Options :

878270205133. 1
878270205134. 2
878270205135. 3

878270205136. 4

Question Number : 24 Question Id : 87827052137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



878270205133. 1
878270205134. 2
878270205135. 3

878270205136. 4

Question Number : 25 Question Id : 87827052138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The enzyme - co factor associated with muscle glycogen phosphorylase is

Pyridoxal phophate
NADP~

NAD™

FMN

o e e

Options :

878270205137. 1
878270205138. 2
878270205139. 3

878270205140. 4

Question Number : 25 Question Id : 87827052138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



878270205137. 1
878270205138. 2
878270205139. 3

878270205140. 4

Question Number : 26 Question Id : 87827052139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who introduced the vaccination method for the prevention of small pox ?

1. Edward Jenner
2. Joseph Lister
3. Robert Koch

4 Louis Pasteur

Options :

878270205141. 1
878270205142. 2
878270205143. 3

878270205144. 4

Question Number : 26 Question Id : 87827052139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foq =9 B AUM & RTT i [ o geand ot 2
1. U843 &R

2 JI";‘:} FE’E*{
3 YEc dig
4. s UIER

Options :



878270205141. 1
878270205142. 2
878270205143. 3

878270205144. 4

Question Number : 27 Question Id : 87827052140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

All are the spore forming bacteria except

1. Clostridium botulinum

2. Bacillus subtilis

3. Bacillus anthracis

4 Pseudomonas aeruginosa

Options :

878270205145. 1
878270205146. 2
878270205147. 3

878270205148. 4

Question Number : 27 Question Id : 87827052140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafad gt diem] a9 ard Sitam] & e 389

1. FNCISTH FicicrH
2. @fYcrg garefor
3. YTy TUIfag

I 1 = -
4. GSTHIY GEIHIE]

Options :



878270205145. 1
878270205146. 2
878270205147. 3

878270205148. 4

Question Number : 28 Question Id : 87827052141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Culture medium with low redox potential is requried for growth of :

1. Anaerobic bacteria

2. Escherichia coli

3. Pseudomonas aeruginosa
4 Aerobic bacteria

Options :

878270205149. 1
878270205150. 2
878270205151. 3

878270205152. 4

Question Number : 28 Question Id : 87827052141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt A1 &1 HH (ST & Bleawaedl [pud! gfg & R e g 2
1. 3R Sa
2. '-;'EE!JEIT-}:"'I ':U.I'-nin'.‘;E

- i .
3. GSTHIEN Te 1]

4. ST Sfiam




Options :

878270205149. 1
878270205150. 2
878270205151. 3

878270205152. 4

Question Number : 29 Question Id : 87827052142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following bacteria can survive in Holder method of pasteurisation ?

- Bordetella pertussis
Coxiella burnetii

- Salmonella typhi

. Mycobacterium bovis

B A

Options :

878270205153. 1
878270205154. 2
878270205155. 3
878270205156. 4

Question Number : 29 Question Id : 87827052142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| —

fFrafaiad o O &9 91 Siar TeRgeEH & gy [ J Sifdd 3§ 9odl g ?

1. Fig e oG
3. FIcHIH T I3
4 FIEHIGTTH Fifag

Options :

878270205153. 1
878270205154. 2
878270205155. 3

878270205156. 4

Question Number : 30 Question Id : 87827052143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which enrichment medium is preferred to grow Vibrio cholerae ?

1. Tetrathionate broth

2. Selenite F broth

3. Alkaline peptone water
4 Glucose broth

Options:

878270205157. 1
878270205158. 2
878270205159. 3

878270205160. 4

Question Number : 30 Question Id : 87827052143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



g dada wremm § A9 @iyl 3T & fow wufimar & e &2

1. CerigHe 51y
2 ETHIge U 1Y
3. &R UPHE od

4 TIPS Sy

Options :

878270205157. 1
878270205158. 2
878270205159. 3

878270205160. 4

Question Number : 31 Question Id : 87827052144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following bacteria produce saccharolytic reaction in cooked meat broth (CMB)

1. Clostridium perfringens

2. Clostridium tetani

3. Pseudomonas aeruginosa
4 Klebsiella sp.

Options:

878270205161. 1
878270205162. 2
878270205163. 3

878270205164. 4

Question Number : 31 Question Id : 87827052144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



frgfefad o 9 & 9 Sitar s gu die sty (@ v of) § Saiasies uiafsar 3as & 37

1 Fleledd Ripag
2 Flclsgd ce

13 ~ 7
3- ﬁ_ﬂ':ksn'l"'u'lu'l"l'll'l":'." ':fl'ﬁji"n'l'll'l'_lfl'l‘:'."."

4 FIqIeT (sp)

Options :

878270205161. 1
878270205162. 2
878270205163. 3
878270205164. 4

Question Number : 32 Question Id : 87827052145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mutation in which a purine is replaced by pynmidine and vice - versa is known as :

1. Transversion

2. Transition

3. Induced mutation
4 Transformation

Options:

878270205165. 1
878270205166. 2
878270205167. 3

878270205168. 4

Question Number : 32 Question Id : 87827052145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



g forgH e WA B TRRITEH gR1 afawifid i o 8 91 39 Udisad o 38 T ded 3 2

1. TR (SFHaeEH)
2. T (STelTEH)
3 ﬁ?l \Ei-irtai ]

4 FEURY (CAHHE)

Options :

878270205165. 1
878270205166. 2
878270205167. 3

878270205168. 4

Question Number : 33 Question Id : 87827052146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which biochemical test is done to differentiate Streptococcus agalactiae from other streptococci?

1. Bile tolerance test

2. Carbohydrate assimilation test
3. CAMP test

4 Citrate utilization test

Options:

878270205169. 1
878270205170. 2
878270205171. 3

878270205172. 4

Question Number : 33 Question Id : 87827052146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Rrioy WTaleedrd! 30 LodIo! O e B & ot $IF I1 wid IS e far S 22

1. 1l Tegar wigm

2. FlaleRge TG wam
3. T T G o

4. T3 WA TRa

Options :

878270205169. 1
878270205170. 2
878270205171.3

878270205172. 4

Question Number : 34 Question Id : 87827052147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which test is done to diagnose Rickettsial infection ?

1. Widal test

2. Weil-felix test
3. AS0 test

4 CRP test

Options:

878270205173. 1
878270205174. 2
878270205175. 3

878270205176. 4

Question Number : 34 Question Id : 87827052147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Rciaaa YHH @1 HaH & & [0 ®F 91 G&0 faar Siar g2

1. faSTd qiam

2 d3d-hicad gdlem
3. T U 3 gdem

4 3R U giarm

Options :

878270205173. 1
878270205174. 2
878270205175. 3

878270205176. 4

Question Number : 35 Question Id : 87827052148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which class of immunoglobulin has maximum concentration in the human body?

1. 1gG
2. lgM
3. IgA
4 IgE

Options:

878270205177. 1
878270205178. 2
878270205179. 3

878270205180. 4

Question Number : 35 Question Id : 87827052148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ARG o & [0y aFf @1 Ad IR | H@ad 9igdl 82

1. 318 S S (1gG)
2 33 o1 TH (IgM)
3. 313 S © (IgA)
4. 33 S5 (IgE)

Options :

878270205177. 1
878270205178. 2
878270205179. 3

878270205180. 4

Question Number : 36 Question Id : 87827052149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frozen section is used to demonstrate inclusion

. secretory granules
. Glycogen

. Lipid

. Pigments

B T o

Options:

878270205181. 1
878270205182. 2
878270205183. 3

878270205184. 4

Question Number : 36 Question Id : 87827052149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Tereifad ¥s &1 Iugr AT B UeRid &34 & fau [Ga Sl e,

1. 9rdl HvHN
2 TEHA

3 fafus

4 quim

Options :

878270205181. 1
878270205182. 2
878270205183. 3

878270205184. 4

Question Number : 37 Question Id : 87827052150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aggregation of basophilic material which are scattered throughout the nucleus is called

1. Nucleolus
2. Centrioles
3. Chromatin granules
4. Secretory granules

Options:

878270205185. 1
878270205186. 2
878270205187. 3

878270205188. 4

Question Number : 37 Question Id : 87827052150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



T Bsd ¥ faE §U &IRGIFT UGIYT b ThATHR0 & del Sl 6

2 dRGDHS
3. Hiafe HIUEHE

4 FTdt BivTHd

Options :

878270205185. 1
878270205186. 2
878270205187. 3

878270205188. 4

Question Number : 38 Question Id : 87827052151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which fixative 15 used for the sections cut by cryostat ?

1. Cold acetone

2. Buffered formal saline
3. Absolute ethyl alcohol
4 Formalin

Options:

878270205189. 1
878270205190. 2
878270205191. 3

878270205192. 4

Question Number : 38 Question Id : 87827052151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. Siifad dieH

2. 9Hs BIHd Yargd

3. Uaiege SUTEd e igd
4. B

Options :

878270205189. 1
878270205190. 2
878270205191. 3

878270205192. 4

Question Number : 39 Question Id : 87827052152 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Heidenhain's Susa fixative, the shrinkage produced by Mercuric Chloride is compensated by the addition of which
solution

1. Chromic acid

2. Acetic acid

3. Potassium Dichromate
4 Picric acid

Options:

878270205193. 1
878270205194. 2
878270205195. 3

878270205196. 4

Question Number : 39 Question Id : 87827052152 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

S5 Sed o 9u haicd 5, FaNG TNES GRI Salcd Y @) MU (Y [aaa @I 1o 4 &1 9 & 2

1. pife TS
4 fimhe s

Options :

878270205193. 1
878270205194. 2
878270205195. 3

878270205196. 4

Question Number : 40 Question Id : 87827052153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which type of decalcification method, the positively charged calcium ions are attracted fo a negatively charged electrode

1. lon exchanges resins

2. Ultrasonic decalcification
3. Electrolyte decalcification
4. By using chelating agents

Options :

878270205197. 1
878270205198. 2
878270205199. 3

878270205200. 4

Question Number : 40 Question Id : 87827052153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fop g yoR 1 Tachedia faft o, et ool hicdiad 3 U BT H1aRId Soidcls &1 4R i gid g 2

1. T o
3. Toqd Sfved fape
4. Forfe wolel &1 Suu e

Options :

878270205197. 1
878270205198. 2
878270205199. 3

878270205200. 4

Question Number : 41 Question Id : 87827052154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The penetration of the paraffin wax in the tissue occurs more readily if part of cell Is coagulated.

1. Fat

2. Carbohydrate
3. Protein

4. Enzyme

Options :

878270205201. 1
878270205202. 2
878270205203. 3
878270205204. 4

Question Number : 41 Question Id : 87827052154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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199
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Options :

878270205201. 1
878270205202. 2
878270205203. 3

878270205204. 4

Question Number : 42 Question Id : 87827052155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which microtome double concave knife is used ?

. Sliding microtome

- Sledge microtome

. Cambridge rocking microtome
. Rotary microtome

A

Options :

878270205205. 1
878270205206. 2
878270205207. 3

878270205208. 4

Question Number : 42 Question Id : 87827052155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

g Agwiem ¥ fgafaad dip @ SURT fadl wrdl 82

1. WSS AE®e™

2. &Il OIghieH

3. it UTH1 HEHICH
4. el ArgHie™

Options :

878270205205. 1
878270205206. 2
878270205207. 3

878270205208. 4

Question Number : 43 Question Id : 87827052156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In honing technique, what is used to prevent the hone from slipping during use?

1. Damp cloth
2. Wooden box
3. Metalic object
4. Filter paper

Options :

878270205209. 1
878270205210. 2
878270205211. 3

878270205212. 4

Question Number : 43 Question Id : 87827052156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

S dd-id H IUGRT & SR gH &I fhaaH U - & A 1 IUTT foedr 911 g2
1. 7 dUs

2. sl d feel

3. Hifdd a5

4 Eﬁ rod A

Options :

878270205209. 1
878270205210. 2
878270205211. 3

878270205212. 4

Question Number : 44 Question Id : 87827052157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

First component of complement which binds to antigen-antibody complex in classical pathway is

1. Cty
2 Cyr
3. Gy
4 Cy

Options :

878270205213. 1
878270205214. 2
878270205215. 3

878270205216. 4

Question Number : 44 Question Id : 87827052157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

R D] Ugdl Ued ol aalidd! Rl § TleH-tdldls] difcied 4 Jedi s -

1.9 1 E'“'_a[:c“l )
2. 911 s (Car
3. ﬁf 13-:5"51'
4. 491 5 (C3)

Options :

878270205213. 1
878270205214. 2
878270205215. 3

878270205216. 4

Question Number : 45 Question Id : 87827052158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The widely accepted theory of antibody formation is

1. Direct template theory
2. Indirect template theory
3. Natural slection theory
4 Clonal selection theory

Options :

878270205217.1
878270205218. 2
878270205219. 3

878270205220. 4

Question Number : 45 Question Id : 87827052158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

yicRaf Faiu &1 U ¥4 4 Widd Nbeid 6 -

1. Uae Heie fgid
2 3Ue ¢rWae fgia
3. Wibla® 994 fgia
4. O 994 THgia

Options :

878270205217. 1
878270205218. 2
878270205219. 3

878270205220. 4

Question Number : 46 Question Id : 87827052159 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List-l with List-l

List-I List-ll

Carbohydrate Function

(A). Cellulose (). Measurement of GFR

(B). Inulin (I1). Component of diet of diabetics
(C). Starch (lI1). Anticoagulant

(D). Heparin {IV). Principle carbohydrate of diet

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (I II{D} (I1)
2. (A) - (1), (B) - (1), (C) - (IV), (D) - (1T}
3. (A) - (i), (B) - (IV), (C) - (1), {D} (I1)
4. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

Options :




878270205221. 1
878270205222. 2
878270205223. 3

878270205224. 4

Question Number : 46 Question Id : 87827052159 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T -1 DT T -1l Y GHT DI

et -1l

BIAIGISSC (AP

(A) Hegata|(l) Sl T, AR H1H0H

(B) S |(I) HYHE & IR H3EN T 9H
(C)=™ () Wishes

(D) BURA |(IV) TER &1 7 E FEERae

1. (A)-(l11), (B)-(1), (C)-(IV), (D)-(II)
2. (A)-(11), (B)-(1), (CH(IV), (D)-(11)
3. (A)-(1), (B)-(IV), (C)(D), (D)-(In)
4. (A)-(11), (B)-(11), (C)-(IV), (D)-(1)

Options :

878270205221. 1
878270205222. 2
878270205223.3

878270205224. 4

Question Number : 47 Question Id : 87827052160 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-lI

Proposed structure Scientist
(A). Semiconservative replication of DNA|(l). Embden

(B). Double helical structure of DNA (II). Meselson and Stahl

(C). Adenosine Mono Phosphate (IIl). H Khorana

(D). Synthesis of Alanine tRNA {IV). Watson, Crick and Wilkins

Choose the correct answer from the options given below:

1. (A) - (11}, (B) - (IV), (C) - (1), (D) - (N1}

2. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

3. (A) - (IV), (B) - (IN), (C) - (1), (D) - (1IT)

4. (A) - (I, (B) - (1), (C) - (IV), (D) - (1)
Options :

878270205225. 1
878270205226. 2
878270205227. 3

878270205228. 4

Question Number : 47 Question Id : 87827052160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) Bt T 0. 1 siefee® wiosfans |(1) THEsa
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(C) TSAIaA 51 Bishe 1y T ERA
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1. (A)-
2 (A)-
3. (A)-
4 (A)-

1), (B)-(IV), (C)-(1), (D)-(111)

1), B)-(1V), (C)-(I), (D)-(1)
V), (B)-(11), (C)-(1), (D)-(I1I)

1), (B)-(I1), (C}-(IV), (D)-(1)

.

Options:

878270205225. 1
878270205226. 2
878270205227.3
878270205228. 4

Question Number : 48 Question Id : 87827052161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll

Name of bacterial growth phase| Bacterial growth details

(A). The end of the lag phase |(1). Involution forms are common

(B). In the log phase (I}. Cells are Gramvariable and show irregular staining

(C). In the stationary phase  [(lll). Cells are smaller and stain uniformly

(D). In the phase of decline  |(IV).Bacteria have maximum cell size

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)
2. (A)-(IN), (B) - (), (C) - (V), (D) - (1)
3. (A)-(IV), (B) - 1), (G) - (1), (D) - (1r)
4.(A)-(IV), (B) - (IIm), (C) - (), (D) - (1)

Options :

878270205229. 1
878270205230. 2
878270205231. 3
878270205232. 4

Question Number : 48 Question Id : 87827052161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl IR Gl BT FaH &

-1 -1l

Sitary] famra @vvr o1 | sitar] faer faawor

(A) THT TX0T BT 3T (1) THEEE 9 §H &

(B) T+ TRoT | (1) BifEmEe TM-aiues 5 & ST sif-afg st fTard &
(C) R s@=n o (IIl) BifETeETE BTt B & SR §HH 9§ Iod 61l 21

(D) HH EH & TR0 § (IV) SitaTy] SBifreTst &1 HHR HiEHad g ol

RN ea f S T oR T

1. (A)-(l), (B)-(IV), (C)-(1), (D)-(1I)

(
2. (A)-(In), (B)-(IlT), (C}-(IV), (D)-(1)
3. (A)-(IV), (B)(1), (C)-(l1), (D)-(liT)
4. (A)-(IV), (B)-(lIm), (C)-(I), (D)-(1)

Options :

878270205229. 1
878270205230. 2
878270205231. 3

878270205232. 4

Question Number : 49 Question Id : 87827052162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-lI

Immunoglobulins Functions

(A). 1gG (1). Protects the body surface

(B). IgA (). Mediates reaginic hypersensitivity
(C). IgM (111). Protects the body fluids

(D). IgE (V). Protects the blood stream

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (1), (C) - (1), (D) - (1T}

2. (A) - (I, (B) - (1), (C) - (IV), (D) - (1)

3. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

4. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)
Options :

878270205233. 1
878270205234. 2
878270205235. 3

878270205236. 4

Question Number : 49 Question Id : 87827052162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G-l BT Gl T FAeE &3

Gl -1l

gHgArageE (@

(A) 315 St ot (1gG) |(1 ) TR 3 Tas Bt &1 a1 8

(B) 318 S T (IgA) |(II) TTbea Siasee-TRiadl &, AuRidl &3 &
(C) TS ot TH(IgM) |(111) TR 3 a0 9Tl B 281 ST &

(D) SHTSwily (IV) X WaTG B &l &3l &

Ty 7 I s oR

1. (A)-
2 (A)-
3. (A)-
4 (A)-

V), (B)-(1), (C)-(IN), (D)-(111)
1), (B)-(1), (C)-(IV), (D)-(11)

1), (B)-(I11), (C)}-(IV), (D)-(1)
I, (B)-(IV), (C)-(1). (D)-(Il

P .

Options:

878270205233. 1
878270205234. 2
878270205235. 3

878270205236. 4

Question Number : 50 Question Id : 87827052163 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List- with List-Il

List-I List-II

Deficiency Syndrome

(A). C1inhibitor (). Bacteremia, mainly with Gram negative diplococc!: toxoplasmosis
(B). C1, C2, C4 components (Il). Hereditary angioneurotic oedema

(C). C3 and its requlatory protein C3b inactivator|(II1). Systemic lupus erythematosus and other collagen vascular diseases

(D). G5, CB, C7, G8, C9 components (IV). Recurrent pyogenic infections

Choose the correct answer from the options given below:

1A
2. (A
3. (A
4 (A

V), (8)-(1). ) - (), (D) - (N
), (B) -
[

(V). ©)-(0), (D) - (I
1) (B)- (I, (C)- (IV), (D)- )
1), (B)- V), )

)-(
)-(
)-(
)-( V). (©)- (1) (D) - Il

),
),
Options :

878270205237. 1
878270205238. 2

878270205239. 3
878270205240. 4

Question Number : 50 Question Id : 87827052163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl 31 G- T e 3

Gk GGl

il figia

(A) C1HENE (1) S, T w9 § 7 Tifea fewieis! & Y ceaety
(B)C1,C2, C4 e@ (1) T Ufogifess ufgmn

(C) C3 3 55 Fam® Fici C3b Ffsraaal| 1) womeda wus uRiferes SR o e sag I
(D) C5. C6, C7, C8, CI TeH (IV) 3 TS SeA

+ftel T T fadedl H & el SR |

1 (A-(IV), (BH(1), (C)-(I1), (D)-(111)

2. (A)-(I1), (B)-(IV), (C)-(1), (D)-(In)

3. (A)-(I1), (B)-(1m), (C)-(V), (D}-(1)

4_(A)-(I1), (B)-(IV), (C)-(1), (D)-(1im)

Options:

878270205237. 1
878270205238. 2
878270205239. 3
878270205240. 4

Question Number : 51 Question Id : 87827052164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-lI

List-I List-ll

Microtome Knives Use

(A). Plano Concave (I). It has got both surfaces flat with a steep cutting edge
(B). Tool Edge profile (I1). Its both surfaces are concave

(C). Biconcave (I11). Both the surface are flat

(D). Plane edge/ Wedge shaped |(IV). It has one surface plane and other concave

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (1), (C) - (I1), (D) - (1T}

2. (A)- (I, (B) - (1, (C) - (IV), (D) - (1IN}

3. (A)- (I, (B) - (1), (C} - (1), (D) - (IV)

4. (A)-(IV), (B) - (I}, (C) - (1), (D) - (1)
Options :

878270205241. 1
878270205242. 2
878270205243. 3

878270205244. 4

Question Number : 51 Question Id : 87827052164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G-l BT G-l T FAeaE &1

- Il

HIgwIcH I1P SUENT

(A) =T SEda (1) T5 GHI Gaa] 1 UF @o! HIeT U & 91y GUIE Sl &
(B) €0 & ST (1) SH1 G| TaE Sadd &

(C) S5 IeBT (II1y S §a 992 &

(D) AT [FARIES HER|(1V) THH U G056 a9 SR gexl Haaqd &

-d feu e f9@vedt § 9 981 SR 9 |

1. (A)-(IV), (B)-(1), (C)-(I1), (D)-(lI
2. (A)-(l1), (B)-(1), (C)(IV), (D)-(Ill
3. (A)-(lm), (B)-(1), (C)-(IN), (D)-(IV
4. (A)-(IV), (B)-(IlT), (C)-(IN), (D)

S Pt

Options :

878270205241. 1
878270205242. 2
878270205243. 3

878270205244. 4

Question Number : 52 Question Id : 87827052165 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-ll

Stain

Component / Tissue

(A). Periodic acid-schiff

(). Extracellular collagen

(B). Mucicarmine

(). Elastic fibers

(C). Van Gieson's

(I11). Carbohydrate

(D). Verhoffs elastic

(IV). Acidic mucin

Choose the correct answer from the options given below:

(I
Il

)
)
1)

(
(

1. (A) - (1), (B) - (IV), (C) - (1), (D) - (N1}

2. (A) - (IV), (B) - (1), (C) - (1), (D) -

3. (A) - (I, (B) - (IV), (C) - (1), (D) -

4. (A)-(IV), (B) - (1), (C) - (1), (D) -
Options :

878270205245. 1
878270205246. 2
878270205247. 3

878270205248. 4

Question Number : 52 Question Id : 87827052165 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




Tt &1 G-Il 9 o &9

- a1l

fipw® HCO[HID

(A) SHTalE® TRe-EE|( ) SRS S
(B) FIfHHHATEA (Il) Seiecd® <&

(C) T ¥11e &1 U EZEIREES

(D) OB gaieesd  |(IV) SfRitd RIReA

T RT T e & @ 981 SR 1

1. (A)-
2. (A)-
3. (A)-
4. (A)-

1), (B)-(IV), (C)(1), (D)=(111)
W} (B)-(lI1), (C)-(11), (D)-()
1), (B)-(IV), (C)-(1), (D)-(1I)
V), (B)-(1), (C)-(1II), (D)-(I1)

_..—-.L_..—H_..—H_..—H

Options:

878270205245. 1
878270205246. 2
878270205247.3

878270205248. 4

Question Number : 53 Question Id : 87827052166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-I List-ll

Term (s) Description

(A). Glycolysis (). Production of pyruvate

(B). Anaerobic (II). Division carried out by bacteria

(C). Binary fission (II1). Metabolic activities without oxygen

(D). Conjugation (IV). Production of tube to connect two bacteria

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (I), (C) - (1), (D) - (1l
2. (A)-(I), (B) - (IV), (C) - (1), (D) - (IN
3. (A) - (1), (B) - (1), (C} - (IV), (D) - (Il
4. (A)- (D), (B) - (1T}, (C}- (1), (D) - (IV

i gt g g

Options :

878270205249. 1
878270205250. 2
878270205251. 3

878270205252. 4

Question Number : 53 Question Id : 87827052166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt &1 G-Il 9 o &9
g s lal

(Fs3) (BaTET)

(A) TSRS e (1) UTS%de &1 A

(B) HaET (Il ST GRT foa T faumee

(C) & v () sieiem & & Sura=g wfafafiat

(D) dg=A (IV) & ST &1 SIS & [0 5@ 1 |
-d feu TTe fadedl § © 98! 3R |

1.(A) - (IV), (B) - (1), (C) - (II), (D) - (1)
2. (A) - (1), (B) - (IV), (C) - (1), (D) - (1T}
3. (A) - (), (B) - (1), (C) - (IV), (D) - (1)
4. (A) - (1), (B) - (1T}, (C) - (1), (D) - (IV)

Options:

878270205249. 1
878270205250. 2
878270205251. 3

878270205252. 4

Question Number : 54 Question Id : 87827052167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-ll

Vertabrae

Number

(A). Cervical Vertebrae

(1). They are 4 in number

(B). Thoracic Vertebrae

(11). They are 7 in number

(C). Lumber Vertebrae

(111). They are 12 in nunmber

(D). Coccygeal Vertebrae

(V). They are 5 In number

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (Ilf), (C) - (1), (D) -

2. (A) - (I, (B) - (IV), (C) - (II), (D) -

3. (A) - (I, (B) - (1), (C) - (IV), (D) -

4. (A) - (I, (B) - (IV), (C) - (1), (D) -
Options :

878270205253. 1
878270205254. 2
878270205255. 3
878270205256. 4

Question Number : 54 Question Id : 87827052167 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

)
)
)
(1)




Tl-1 B gl T FAeE &3

- I
TRED! e
(AJTaT BEEE! (1 FTa SET 48

(B) UNTH® SRR |(Il) S99 G 7 8
(C) T BRIGH] (Ill) ST =2 §
(D) Tl HRTHI|(IV) TTH! S5 8
AT ed f S SR SR T

1. (A)-(IV), (B)(II), (C)-(I1), (D)-(I
2. (A)-(l1), (B)-(IV), (C)-(1), (D)
3. (A)-(I1), (B)=(111), (C)-(IV), (D)-(I
4 (A)-(I11), (B)-(IV), (C)-(1), (D)-(ll

)
)
)
)
Options:

878270205253. 1

878270205254. 2

878270205255. 3

878270205256. 4

Question Number : 55 Question Id : 87827052168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

Condition Symptoms

(A). Glomerulinephritis |(1). Cessation of urine secretion

(B). Anurea (11). An infection of kidney leading to inflammation
(C). Polyurea (111). Inflammation of urinary bladder
(D). Cystitis (IV).Secretion of large quantities of urine

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IV), (C) - (1), (D) - (NI}

2. (A) - (I, (B) - (1), (C) - (IV), (D) - (1IT)

3. (A) - (I, (B) - (1), (C) - (IV), (D) - (1)

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)
Options :

878270205257. 1
878270205258. 2
878270205259. 3

878270205260. 4

Question Number : 55 Question Id : 87827052168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G-l BT G-l T FAeaE &1
it -l

AT &I

(A) THERHEIGH|(| ) HF FE $ A

(B) (I1) TE =BT TeHT Goi 1 BRU 5] &
(C) ureitafn (1) FEEA B G

(D) fafeefes (IV) &5t AT H 73 &1 9|

T e T et 5 3 98 SR

1. (A)-
2 (A)-
3. (A)-
4 (A)-

1), (B)-(IV), (C)(1), (D)=(Ill
1), (B)-(1), (C)>-(V), (D)=(Ill
1), (B)-(11), (C)-(IV), (D)-(I

I, (B)-(IV), (C)-(1). (D)-(Il

P A
S S S

Options:

878270205257. 1
878270205258. 2
878270205259. 3

878270205260. 4

Question Number : 56 Question Id : 87827052169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the metalloproteins from the following

{A). Ceruloplasmin

(B). Albumin

(C). Transferrin

(D). Mucin

Choose the correct answer from the options given below:

1. (A), and (C) only.
2. (C)and (D) only.
3. (B), and (D).only
4 (A)and (D) only

Options :

878270205261. 1
878270205262. 2
878270205263. 3

878270205264. 4

Question Number : 56 Question Id : 87827052169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ffafaa 5 9 deauda & 3aiev Ugdiag
(A) TTICIoH

(B) TegHA

(C) TR

(D) T

Td feu e fgwedl § 9 98 S| |

aﬂmﬁiﬂ GW_|C\
®ad (C) 3R (D)

3 3ﬁﬁﬁ{B*GW_|D}
4. W{F‘i G‘TlD}

Options :

878270205261. 1
878270205262. 2
878270205263. 3

878270205264. 4

Question Number : 57 Question Id : 87827052170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Hydrogen peroxide formed in the erythrocyte is converted into water by which of the following ?
(A). G6PD

(B). Catalase

(C). Methemoglobin reductase

(D). Glutathione peroxidase

Choose the correct answer from the options given below:

1. (A) and (B) only
2. (B) and (D) only
3. (A)and (C) only
4. (C) and (D) only.

Options :

878270205265. 1
878270205266. 2
878270205267. 3
878270205268. 4

Question Number : 57 Question Id : 87827052170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I SR BT H 99 gRglon WiFss @ Fufafad 8 € foqe gR1 od 4 uivafdd fear siarg 2
(A) 64T (GBPD)
(B) o

(C) FArGie Redey
D) "I WRigTey
rd feu e faded] 4 9 W IR

1. %ad (A) 3R (B)
2. $4d (B) 4R (D)
(A) G‘TIC)
g (

C) 3R (D)

SW

Options :

878270205265. 1
878270205266. 2
878270205267. 3

878270205268. 4

Question Number : 58 Question Id : 87827052171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Excess niacin administration may cause:

(A). Lowering of blood pressure

(B). Hypertension

(C). Flushing syndrome

(D). Vasoconstriction

Choose the correct answer from the options given below:

1. (A) and (D) only.
2. (B) and (C) only.
3. (C)and (D) only
4. (A) and (C) only.

Options :

878270205269. 1
878270205270. 2
878270205271.3

878270205272. 4

Question Number : 58 Question Id : 87827052171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SAYE FOA I gl 9@dl &
(A) 9 Toaa™
(B) 3= Ya9d

(C) TR g

(D) aifgdrg@IvA

Td feu e fgwedl § 9 98 S| |

1. @ad (A) 3R (D)
2 3ﬁﬁﬁ{B*GW_|CH
@dd (C) 3R (D)

4 aﬁﬂﬁ{ﬂ GW_|C\

Options :

878270205269. 1
878270205270. 2
878270205271.3

878270205272. 4

Question Number : 59 Question Id : 87827052172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the identical urinary findings in both metabolic acidosis and respiratory acidosis ?
(A). pH:acidic

(B). NaH;POy: Increased

(C). Titrable acidity: Increased

(D). NH4Cl: Decreased

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2 (At (B) and (C) only.
B), (C) and (D). only
(C)and (D

rﬂr(,wﬁat }and (D) only

Options :

878270205273. 1
878270205274. 2
878270205275. 3

878270205276. 4

Question Number : 59 Question Id : 87827052172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= T [t - " Y

Heraifers TSI o RS s gl o 43 ddd gaH sy ugaru
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(B) NaH;POy4: del gl

(C) eTSedd URifsd: 981 55

(D) NH4CI: 9T gall

i fu e fawedl § § 981 SR |

1.®4d (A). (B) SﬂT (D)

2 @ad (A), (B) 3R (C)

3 @ad (B). (C) 3R (D)

4 &ad (A), (C) 3R (D)
Options :

878270205273. 1
878270205274. 2
878270205275. 3
878270205276. 4

Question Number : 60 Question Id : 87827052173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



De novo synthesis of purines, is not operative in :

{(A). Liver

(B). Erythrocytes

(C). Kidney

(D). Brain

Choose the correct answer from the options given below

1. (B) and (D) only
2. (A)and (C) only.
3. (A), and (B) only
4. (C)and (D) only.

Options :

878270205277. 1
878270205278. 2
878270205279. 3

878270205280. 4

Question Number : 60 Question Id : 87827052173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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¢ R § I &1 9Rayy, AiEaied § 9 {698 dRIR T8l 6 ?
(A) TPd

(B) TS TR BT

C) &

(D) AfTs®

Td feu e fgwedl § 9 98 S| |

W{B‘s Cﬂ_lD}
2 W{F‘a G‘TIC}
3. %ad (A) 3R (B)
4. Had (C) 3R (D)

Options :

878270205277. 1
878270205278. 2
878270205279. 3
878270205280. 4

Question Number : 61 Question Id : 87827052174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the following statments and choose the correct answers from the options given below:
(A). In Neisser's stain Neisser's methylene blue is used as a counter stain

(B). Granular part stain blue - black in colour by Neisser's stain in bacteria

(C). Negative staining is used for the identification of capsule

(D). By using Hiss method of capsule stain, capsules stain yellowish green in colour
Choose the correct answer from the options given below:

1. (B) and (D) only.
2.(A), and (C) only.

3. (A), and (B) only
4 (B), and (C) only.

Options :

878270205281. 1
878270205282. 2
878270205283. 3

878270205284. 4

Question Number : 61 Question Id : 87827052174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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I feu T faded! © O U8l SR |

1. %ad (B) 3R (D)
2 ®ad (A) 3R (C)
)
)

3 ®ad (A) 3R (B
4 Had (B) 3R (C

Options :

878270205281. 1
878270205282. 2
878270205283. 3

878270205284. 4

Question Number : 62 Question Id : 87827052175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the following statment and choose the correct answer from the options given below:)
(A). In MacConkey agar, Escherichia coli is used as +ve control organism

(B). Clostridium botulinum an anaerobic organism may produce some growth on the surface of aerobic bacteria supporting
agar plate

(C). In Candle Jar method, carbon dioxide gas is produced inside the Candle Jar which stimulate the growth of bacteria
(D). The popular but ineffective anaerobic culture method is biological method

Choose the comect answer from the options given below:

—

A), and (D) only
B) and (C) only
A), and (C) only
C) and (D) only.

T

1
2
3.
4

P

Options :

878270205285. 1
878270205286. 2
878270205287. 3

878270205288. 4

Question Number : 62 Question Id : 87827052175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(B) FIRCISTH aliccr7m, SfaTadiy SRl & S o o, iy e @) Ueg W e G o 9 &

(C) 3T R fafy § $aw IR & 3 Tl SRS 119 B JaIG gl & of NG & (079 B Wdlied &Xel g
(D) T e srmwrdh oraradi wad foft Sfews fafd 31
e few o fowedt A 8 08 SR

1. %94 (A) iR D)
2%ﬂa@ IR (C)
3 6ad (A) 3R (C)
4 &9q (C) 3R (D)
Options :
878270205285, 1
878270205286. 2
878270205287. 3

878270205288. 4

Question Number : 63 Question Id : 87827052176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the following statments and choose the correct answer from the options given below:

(A). In heavy bacterial infection , toxic granules are present in neutrophils

(B). Basophilia is observed in all conditions except myxodema

(C). Charcot - lyden crystals are formed by degeneration of eosinophils

(D). Human leucocyte antigen test is done to determine donor / recipient compatibility for tissue transplantation
Choose the correct answer from the options given below:

(M),

), (B) and (C) only.
(A),
)

( (

(B)and (D) only.
(C) and (D) only
(C) and (D) only

Options :

878270205289. 1
878270205290. 2
878270205291. 3

878270205292. 4

Question Number : 63 Question Id : 87827052176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(C) TPIC-T3ST e SSMTUITHT & HT9e § 7d o

(D) Fadh TARIQ & FoTT STef/Taidsell &1 ST (e @R & ot WHa wqdirge Tetom Thiem foa S 31
Frd feu T fowed # € W8 S HI

1. 90 (4), (B) 3R (C)
2. % (A), (B) R (D)
3 B4 (A), (C) iR (D)
4 Had (8), (C) R (D)
Options :

878270205289. 1
878270205290. 2
878270205291. 3

878270205292. 4

Question Number : 64 Question Id : 87827052177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the following statments and choose the correct answer from the options given below:
(A). After telophase stage of cell division, two daughter cells are formed

(B). The process of cell division is called osmosis

(C). Network fomed by reticular fibers supports cells, capillaries & nerve fibers

(D). Granulomas are typically soft in Gumma

Choose the correct answer from the options given below:

1. (A), and (D) only.
2. (A), and (C) only.
3. (B), and (D) only.
4 (C)and (D) only.

Options :

878270205293. 1
878270205294. 2
878270205295. 3

878270205296. 4

Question Number : 64 Question Id : 87827052177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frofefed Byl o1 0¢ #iR i fog e fawedl # 9 98l o 3

(A) DI TUSH & calthdl U & 916, &l 9did SIS a4l ¢
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1. ®ad (A) 3R (D)
2 &ad (A) 3R (C)
3 &ad (B) 3R (D)
4 &ad (C) AR (D)

Options :

878270205293. 1
878270205294. 2
878270205295. 3
878270205296. 4

Question Number : 65 Question Id : 87827052178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the following statment and choose the correct answer from the options given below:
(A).Sphenoid bone is at the back and lower part of the cranial cavity

(B). Ethmoid bone lies at the base of the skull

(C). Frontal bone forms the forehead and the roof of the orbit

(D). Perietal bone forms the roofs and side of skull

Choose the correct answer from the options given below:

1. (A) and (D) only.
2. (B) and (C) only.
3. (A)and (B) only.
4 (C)and (D) only.

Options :

878270205297. 1
878270205298. 2
878270205299. 3

878270205300. 4

Question Number : 65 Question Id : 87827052178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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-

(D) WU3! B Badl IR IR Gdiuea Y T 4 8id B

=td fau e fadedl & ¥ 981 SR 4|

1.%ad (A) 3R (D)
2 @dd (B) 3R (C)
3. &ad (A) 3R (B)
4. &dd (C) 3R (D)

Options :

878270205297. 1
878270205298. 2
878270205299. 3

878270205300. 4

Question Number : 66 Question Id : 87827052179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in proper sequence :

{A).Counter stain

(B). Mordant

(C).Primary stain

(D).Decolorization

Choose the correct answer from the options given below

-(C), (B), (D
(). ®), (0
|: 3\

5

33‘

(

(

(
C; (
Options :
878270205301. 1
878270205302. 2

878270205303. 3

878270205304. 4

Question Number : 66 Question Id : 87827052179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(B) ArSe
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(D) faifimeo
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B), (D), (A)
), ( } (C)
). | IC_]
), (A), (D)

:l:?lIJ

AG),
2. (A), (
A

), (

U-'J

Options :

878270205301. 1
878270205302. 2
878270205303. 3

878270205304. 4

Question Number : 67 Question Id : 87827052180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps of sporulation in correct order from initial stage :
{A). Engulfment of fore spore

(B). Axial filament formation

(C). Septum formation

(D). Cortex formation

Choose the correct answer from the options given below:

1. (A), (B), (D), (C)

2.(B), (C), (A), (D)

3. (C), (D), (B), (A).

4_(B), (A), (C), (D)
Options :

878270205305. 1
878270205306. 2
878270205307. 3
878270205308. 4

Question Number : 67 Question Id : 87827052180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(C) Ue (IpH) &1 FAgf
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I fou T faded! & © 981 SR T

1. (A), (B), (D), (C)
2. (B), (C; (A), (D)
3 (C), (D), (B), (A).

(B), {ﬁﬂu (C), (D)

Options :

878270205305. 1
878270205306. 2
878270205307. 3
878270205308. 4

Question Number : 68 Question Id : 87827052181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following events in inflammatory response in correct sequence
(A). Phagocytes migration

(B). Tissue damage release mediators that include capillary permeability

(C). Leakage of fluid(exudate) and cells

(D). Phagocytes and exudate destroy bacteria

Choose the correct answer from the options given below:

1. (A), (C), (B), (D).

2. (A), (D), (B), (C).

3. (B), (C), (A), (D).

4. (C), (B), (D). (A).
Options :

878270205309. 1
878270205310. 2
878270205311. 3
878270205312. 4

Question Number : 68 Question Id : 87827052181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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=td fau e fadedl & ¥ 981 SR 4|

(D).
(C).
(D).
(A).

1. (A), (C), (B),
2. (A), (D), (B),
3. (B), (C), (A),
4. (C), (B), (D),

Options :

878270205309. 1
878270205310. 2
878270205311. 3
878270205312. 4

Question Number : 69 Question Id : 87827052182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps of tissue processing in histopathology lab in correct sequence
(A). Dehydration

(B). Fixation

(C). Clearing

(D). Infiltration & Impregnation

Choose the correct answer from the options given below

1.(A), (B), (D), (C)
( ), (A), (C), (B)
-(B), (A), (C), (D)

4 (C), (B), (D), (A).

Options :

878270205313. 1
878270205314. 2
878270205315. 3

878270205316. 4

Question Number : 69 Question Id : 87827052182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A), (B), (D), (C)
\

(
{Dr (A), (C), (B)
-(B), (A), (C), (D)
4 (C), (B), (D), (A).

Options :

878270205313. 1
878270205314. 2
878270205315. 3
878270205316. 4

Question Number : 70 Question Id : 87827052183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps of phagocytosis in sequence :
(A). Phagosome fuses with lysosome

(B). Bacterium is ingested, forming phagosome

(C). Bacterium is killed by lysosomal enzymes

(D). Bacterium becomes attached to pseudopodia

Choose the correct answer from the options given below:

1. (D), (B), (A), (C).

2. (A), (C), {E}: [ED ]

)
)
3. (B), (A), (D), (C).
4 (C), (B), (D), (A).

Options :

878270205317. 1
878270205318. 2
878270205319. 3

878270205320. 4

Question Number : 70 Question Id : 87827052183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (D), (B)
2. (A), (C)
3. (B), (A)
4.(C), (B), (

(A
(B
(D

=

)
(D)
(C)
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)

(
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Options :

878270205317. 1
878270205318. 2
878270205319. 3

878270205320. 4

Question Number : 71 Question Id : 87827052184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps of immune response in correct sequence
{A). T cells receptors recognize antigen bound to MHC molecule

(B). Internalized antigen digested by cell

{C). Bound antigen - MHC activates T cells

(D). Altered self - cell presents antigen

Choose the correct answer from the options given below:

1. (A), (B), (D), (C).
2. (A), (C), (B), (D).
3. (B), (A), (D), (C).

). (C)

4. (B), (D), (A), (C).

Options :

878270205321. 1
878270205322. 2
878270205323. 3
878270205324. 4

Question Number : 71 Question Id : 87827052184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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=td fau e fadedl & ¥ 981 SR 4|
1. (A), (B), (D), (C).
2. (A), (C), (B), (D).
3. (B), (A), (D), (C).

), (C)

4 (B), {D}i (A), (C).

Options :

878270205321. 1
878270205322. 2
878270205323. 3
878270205324. 4

Question Number : 72 Question Id : 87827052185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps for WBC counting in correct order :
{A). Draw the blood sample, fill venous blood till 0.5 mark

(B). Place the cover slip on the counting chamber at the right place
(C). Use a WBC pipette of a hemocytometer

(D). Draw WBC diluting fluid, fill the fluid till 11mark, mix with blood
Choose the correct answer from the options given below:

(D).
(A).
(B).
(D).

1. (A), (C), (B
2. (D), (B), (C
3. (C), (A), (D
4 (C), (A), (B

),
)
)
),
Options :

878270205325. 1
878270205326. 2
878270205327.3

878270205328. 4

Question Number : 72 Question Id : 87827052185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(D).
(A).
(B).
(D).

1. (A), (C), (B),
2. (D), (B), (C),
3. (C), (A), (D),
4 (C), (A), (B),

Options :

878270205325. 1
878270205326. 2
878270205327. 3

878270205328. 4

Question Number : 73 Question Id : 87827052186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps in Degradation of uric acid in animals other than man in correct sequence
(A). Allantoin

(B). Uric acid

(C). Urea

(D). Allantoin Acid

(E). Ammonia

Choose the correct answer from the options given below

B), (A), (D), (C), (E)

D), (B), (C), (E), (A)

B), (E), (D), (A), (C)
(

(
(
(
(E), (B), (C), (A), (D)

1.
2
3
4
Options :

878270205329. 1
878270205330. 2

878270205331. 3

878270205332. 4

Question Number : 73 Question Id : 87827052186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270205329. 1
878270205330. 2
878270205331. 3

878270205332. 4

Question Number : 74 Question Id : 87827052187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following reactions of citirc acid cycle in correct order:
{A). Formation of Alpha- ketoglutarate

(B). Conversion of Alpha - Ketoglutarate to succinyl CoA

(C). Formation of citrate

(D). Citrate is isomerized to isocitrate

(E). Formation of succinate

Choose the correct answer from the options given below:

1.(D), (B), (C). (E)., (A)
2. (C), (B), (D), (A), (E)
3. (C), (D), (A), (B), (E)
4. (A), (C), (D), (E), (B)

Options :

878270205333. 1
878270205334. 2
878270205335. 3

878270205336. 4

Question Number : 74 Question Id : 87827052187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.(D), (B), (C). (E)., (A)
2. (C), (B), (D), (A), (E)
3. (C), (D), (A). (B), (E)
4. (A), (C), (D), (E), (B)

i
|

)
B)
(E)

Options :
878270205333. 1
878270205334. 2

878270205335. 3
878270205336. 4

Question Number : 75 Question Id : 87827052188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in order from top to bottom lateral view of adult skull (Frontal bone)
(A). Lacrimal bone

(B). Maxilla

(C). Supra-orbital foramen

(D). Infra-orbital foramen .

(E) Nasal bone

Choose the correct answer from the options given below:

1.(A), (D), (B), (E).(C)
2 (C; (A), (E), (D),(B)
D), (A), (B), (E).(C)
4 (C; (E), (A), (D), (B)
Options :
878270205337. 1
878270205338. 2
878270205339. 3

878270205340. 4

Question Number : 75 Question Id : 87827052188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A), (D), (B), (E).(C)
2 (C), (A), (E), (D),(B)
3. (D), (A), (B), (E).(C)
4 (C), (E), (A), (D), (B)
Options :

878270205337. 1
878270205338. 2
878270205339. 3
878270205340. 4



